C t - ) Al
Lhnusglgtij %ptinn having similar meaning to Capital word. \ A\‘
SEries

(A) Religious , :
C i (BY Sympathetic
S (D) Faithful

2. REPLENISH
(A) Restore
() Mg b pvren4

Choose the option correct for the sentence,

3. Ahater of knowledge and learning
(A)  Bibliophile (B) Philologist
(C) Misogynist (D)  Misologist

Choose the correct option for filling up the blanks.

i oW &
4. In to picking up milk from the grocery store we also need to get some breac
because my cousinate all of it in pastweek.
(A) further
(C) aftermath

In each of questions given be
option which gives the corre
and contextually correct.

5. The H.P. Ordinance notionly con
violates (B) with existing (C) pers ws.
(A) ABC v T1NTM (B) CAB,
(C) BAC [V 'gl-i X AW CCEM

_-'._ﬂ'_-t. ) |

6.  The Supreme Coulrtthas beehasking states:t¢ reservation (A) quantifiable data to ju
(B) their level of produce (C).
(A) CAB
(C) BCA

(B) ACB
(D) CBA

Choose the correctly spelt word.

(B) Harrasmant

t
7. (A) Forsmed (D) Harresment

(C) Harassment

(B) Concensus

8. (A) Consensus (D) Consanss

(C) Consencus



Select the most appropriate option to change the sentence from Direct Speegy,
Reported Speech and vice versa. \

9. "lamgoingout tonight" Luxmi said |
(A)  Luxmisaid that she was going oul tonight.
(B)  Luxmi said that she was going out that night.

(C)  Luxmisaid she was goingout that night.

(D)  Luxmisaid that she will be gning out that night.

10.  The King ordered that they should celebrate their victory.
(A)  TheKing said, "One should celebrate their victory”.

(B)  TheKingsaid, "lorder everyone to celebrate”,
(C)  TheKingsaid, "We should celebrate our victory".
(D)  TheKingsaid, "We may celebrate”.

The given phrase in bold may or may not contain an error. The options following cup replac
the incorrect phrase, The correct phrase that is to be replaced willbe your answer, :

Everything is funny as long as it "IS HAPPENING TOO" somebody else.
(A) hasbeen happening for (B) could have happenedto
(C) washappeningto (D) ishappeningto

11,

Choose the correct mealﬁ of the idiom as underlined.

exalms.lIn

12.  Everyone likes her since she always remains in high spirits.
(A) talkative (B) cheerful
(C) welldressed (D) courteous

I3.  HewasaKing who ruled his subjects with a high hand .

(A) oppressively (B) kindly
(C) conveniently (D) sympathetically.

Select the option which best expresses the sentence in Active/Passive voice.

14.  Somebody told me that there had been an explosion in the Mall.
(A) Iwastold by somebody aboutthe explosion in the Mall.
(B) Iwastold about the explosion in the Mall.
(C) Iwasinformed thatthere was an explosion in the Mall.
(D) Iwastold by somebody that there had been an explosion in the Mall.

Thoose the correct option for sentence improvement if any.

5. He has fallen out with the girl he wanted to marry .

(A) fallenoff (B) falleninlove
(C) fallenfor (D) noimprovement.

@ ST 2022-Series



16.

17.

18.

19.

20.

21.

22.

23.

24.

Itis the ime . : g ' .
¢ the three years old is learning how to read and write. 1

A) was learnin _
© o B ..
(A) d=qen

©) dfa i m@

Prtferfae & @ e &2

(A) B)

(C) =l (D)

e 1 R = w1 8?

(A) Uad (B) Tu&d

©) &8 (D) oo

'q8 ' 1 SgaE 1 &7

(A) @ (B) d&®d

(© 1 (D) A

9% TFY 7 L

qEE-

(A) TCHIES (B) uit+gE®

(C) URH3TEH (D) T3S

B A qEaTEE G B Al 87

(A) o (B) Hiat

C) MR D) fer

" 37erTeT TR Badhd ST gaﬁhahﬁﬁwrwaﬁ%?

(A) 78 e % e @) o T & T TR
(C) B o 1 Hfers e (D) I & B
g dalt 3 T P!

(A) A (B) Iehied

(C) IehSID (D) KRBT

N



25, fore o e gom 8 B R 0 9%

(C) S (D) ST
26. 9@ I= &

(A) i (B)  arpatfirh

©)  Sin (D) STy
27. g O R

(A)  SFba (B) g7

(C) gwM (D) T
28. o 7% 1 UM I 3981 A S B o o e @

(A) S (B) o

(C) IFE™ (D) &
9. gET=E

(A) %o

30.
31,
(B)  orasra

(€) s o =
2. FRAIT =AY

o Wm (B) o

B (D) T & 7
33.  Jallian wala Bagh massacre took p] W

R Do

W (D) Holi




34.

35.

36.

37.

38.

ot A A e R wer e
® et T e Al

C) e (D) @i Series

mmhﬁm”cmﬁm isknown as August Movement / Kranti?
on Cooperation Movement  (B)  Khilafat Movement

(C) Swadeshi Movement D it Indi

g — men oy (ﬁ G]‘HT%L;: g}dm Movement

(A) AR SR (B) ferisa s

(C) it s (D) e B St

The Non Cooperation Movement was suspended in-

(A) 1922 (B) 1929

(C) 1921 (D) 1927

aErEarT St e ad o P H Rar w2

(A) 1922 (B) 1929

(C) 1921 (D) 1927

The Pir Panjal range is located in which neighbouring state of Himachal Pradesh?

(A) Haryana (B) Punjab

©) Jammu & Kashmir (D) Uttarakhand

O G T S R SR & R S v o R 82

(A) ERamm (B) U

(C) ™ THMT (D) SuUEs

Which among the following states of India has the largest coal reserve?

(A) AndhraPradesh (B) Jharkhand

(C) WestBengal (D) Madhya Pradesh

S & @ AT 3 A & 7o § T B T 78 TR €7

(A) FiEm SR (B) F@"S

(C) uis=m ST (D) WA el
soils are mostly confined to river basinand coastal plains of India?

(A) Alluvialsoils (B) Black gﬂils

(C) Lateritesoils (D) Redsoils
Wﬁﬁﬁwﬁaﬁmaﬁuﬁﬁamﬁmﬁﬁﬁwmh

(A) TGH (B) Fwi et

(€) weuse el (D) e fret




39,

40.

41,

42.

43,

44.

Which of the following groups of rivers originate from the Himachal mountains?

(A)  Beas, Raviand Chenab (B) Ravi, Chenab and Jhelum “
(C)  Sutluj, Beas and Ravi (D) Sutluy, Ravi And Jhelum
i 3 & i W wfai o sk & wal & e 87 Seri,
(A) =, vt 3 R (B) 1, Freme 7 e

(C) ag, =™ g v (D) e, T 7 frem

In which state do the Monsoon arrive first?

(A) Assam (B) Maharashtra

(C)  Kerala (D) Himachal Pradesh

ey T & s e e B

(A) amam (B) W

(C) Fa (D) femrert e

Whatis the name of the highest mountain in India?

(A) Kanchenjunga _ (B) NandaDevi

(C)  SriKailash (D) Jongsong Peak

S &1 T S arel a1 T a2

(A)  FEaor (B) arad

(C) i Fem (D) ST G Ay

State animal of Himachal Pradesh is?

(A) Tiger (B) Lion

(C) Bison (D) Snowleopard
FRTereT SReT 1 T 9 i &7

(A) a9 (B)

(C) e (D) fem dgam

Which is the biggest natural lake in Himachal Pradesh?

(A) RenukaLake (B) Rewalsar Lake

(C) Khajjiar Lake (D) BrighuLake
FeHTeIeT 59T i1 T g1 Sepfereh 3 it <t 29

(A) o Fi (B) Ramwt#Hiw

(C) whER W (D) 9

Shimla was declared as summer capital of British India in year?

(A) 1858 (B) 1864

(C) 1869 (D) 1871

FarereT bt farfersy et it sftehicite Tt R A & et e wr an

(A) 1858 (B) 1864

(7) 1369 (D) 1871



45,

47.

48.

49.

30.

Larji Hydroelectric p

: . _ |
{A} Parbati wwer Pr“!l‘tltmnm!cun river! LA_&

(C) Baspa (B) Baner Series
m{\'rﬂ. " qﬁ:ﬁa:n‘ (D) Beas
ﬁgﬁ! 5 T 7 Ak ok B
— 1Y 912 IT..h )
() T () &9
(© (hy =y

Which cultural festival is celebrated a Varana
(A) MahaShivratri
[C) Sazo (1) [.'Innl'lp_,ri
erSt 3 ARTOT Steran 6Y) gmgft 3 g o

{mi:iﬂ5ﬁ ST ST S T
(A) el Ry (B)

dof the ills or Chhott Kashi?
':H'l L.osar

A
(C) ®m (D) #f
As seen inrecent news "E-Daakhil Portal" is associated with which Sector?

(A) Rightto Education
(C) LifeCertificate

(D) Income Tax
T 5 FHTERT # A "E-Daakhil Portal” B 8 3w witE B 2

(B) Consumer Complaints

(A) Brns sfer (B)  Iq¥iint farprad
(C) S ST (D) ST
fraction of Rajya Sabha members retire after every two years?
(A) 273 (B) 112
(C) 173 (D) 1/6
T 1 3 T S 2 Y ) vty % e Sl % e daiied 3 W 2
(A) 273 (B) 112
) 173 (D) Ve

If dog is called cat, cat is called lion, lion is called ox, ox is called cock, cock is ca
elephant and elephant is called donkey, then farmer ploughs with which animal?

(A) dog (B) lion

(C) donkey (D) cock

3% 0 B Fael et T, et B, A, e o o, 7 ) e v e e
o JaEa % v frar el & s

(A) I (B)

(C) T (D)

Ram is taller than Shyam but not as much as Rajan. Arjun is taller than Sohan who is s
than Shyam. Who is the shortest?

(A) Rajan (B) Ram

(C) Arun (D) Sohan

(9) Mzuzz-sﬂ



S1.

52.

53.

54.

35,

W, 4 A S B, T o e T8N o, e @ G & o A o & gl A

(A)  ToHA (B) ™ o Series
(C) o7 (D) e

Shyam Lal goes 8 Kms in the west from a certain point, Then he moves to his right

and goes 8 Kms. In the end he goes 25 Kms. in south cast direction. How far is he

from his starting point”

(A) 10Kms (B) 20Kms

(C) 15Kms (D) Noneofthese

Roelt e g & s e et 3 8 6, s e ardt aive g & B,y onfere # e

afor-qd R 3 25 R & 78 SR s g & P 77 B2

(A) 10 f&Ht (B) 20 ¥,
(C) 15 fpdt. (D) % @ Hf 78
If 'a'means'+, 'b'means’-', 'c'means'+' and'd' means 'x' then 16a4b3c4d2=?
(A) 10 (B) 17
(C) 185 (D) 2172
I "a' W '+, A W, '’ A T ' HaeE a1 6adblcdd2="
(A) 10 (B) 17
(C) 185 (D) 2172
Which one of the following is different from the rest?
(A) Barley (B) Groundnut
(C) Moustard (D) Peas
fr=iiieaa & i a1 o | T 27
(A) o (B) ¥
(C) o (D) X
3
Inacode "TOGETHER' isdenoted by 'RQEGRICT' then 'FRIEND' will be denoted by?
(A) DSHGFL (B) FLGGTD
(C) GGLFDT (D) DTGGLF

T %€ § 'TOGETHER' & 'RQEGRICT' & a9 e &, &t 'FRIEND' 91 38 %12 & et

g9Ifar .
(A) DSHGFL (B) FLGGTD
(C) GGLFDT (D) DTGGLF

Ram's position is thirteenth from upwards in a class of 53 students, What will be his position

from downwards?
(A) 42 (B) 43
(C) 41 (D) 40

m PP1/2022-Series



5‘ﬁﬁﬁﬂ“ﬂmmmﬁmﬁHm%lmmﬁfﬁﬂaﬁﬁmm*
(A) 429 B) 43
(© 41 (D) 404t eries

56. February 1,2009 was Sunda

(A) Wednesday y. What day of the weck was on March 1st, 201172

(B) Tuesday

(C) Friday 2 (D)  Sunday
et 1,2009 AT an W 1, 2011 % wyeme a5 e et v
(A) FHIR (B) e
(C) FA (D)
Fill in the blanks with Correct option,
s7. 200,193,179,158, 95
(A) 135 (B) 133
{C} 132 (D) 130
R, T =1 ¥
200 ’193 79, 15§ 95
(A) 135 ! (B) 133
(C) 132 (D) 130
% TR TR
58. 51,49,44,42 37,
(A) 35 (B) 34
(C) 33 (D) 32
g8l ey | b & &t 1
51,49,44,42,37,
A) 35 (B) 34

59. Find the odd one out
Ranjit Sagar lake, Gobind Sagar lake, Maharana Pratap Sagar, Prashar lake.

(A) Prasharlake (B) Gobind Sagarlake
(C) Maharana Pratap Sagar (D) Ranjit Sagar lake
I / ST =T B

ool SRR A, S SR S, FET S S, e
(A) TR A (B) e AN i
(C)  HEwIT e €K (D) T R A

x 60. Ifinacode 'CAB'is written as 312, 'BIG' is written as 297, then 'FEED' will be w

code as-
(A) 6554
(C) 6534

(B) 5444
(D) 5464

T Mztm-r



g4, Howmany boxes are there between box W and box R?
i (A) None (B) 1

(0 2 (D) 2 Series
s W @ RETE A

(A) HETH (B)

© (D) &

A student goes to School at the rate of 2% km/r and reaches 6 min. late, [£he travels at the
speed of 3km/hr, heis 10 min, eq ly. What is the distance to School?
(A) 4km (B) Skm

(©) 3.5km (D) 4.5km
o Rt 202 ke 9 ofiy T e B A 6 fre 20 A a3y e A dk/he B TR
R e 3 & A 10 fiere sred) g o B g o o e B

(A) 4 fa. (B) 5 frA.
(€ 3.5 R (D) 4.5 A,
_ - L
Find value of X in- - {5’
28.5x34+2320+8=(36)' - x ~\¢
(A Sl (B) 47 - @
. (6)" 43 (D) 37 -6
xﬁ‘ﬁiﬂﬁﬁﬂﬁ- -
28.5x34+2320+8=(36) - x A
(A) 5l (B) 47 L
(C) 43 (D) 37
67.  30% apples outof450 are rotten. How many apples are in good condition?
£ (A) 125 (B) 315
C© 240 (D) 180
A4S0 A 30% TR gu ) P A ored R § B2
(A 125 (B) 315
(€) 240 (D) 180

Veena obtained an amount of Rs. 8376 as simple interest on a certain amount at 8% p.
after 6 years. What is the amount invested by Veena?

(A)Rs. 16660 (B)Rs. 17180

- (O)Rs. 17450 (D)Rs. 18110

A o el o @Y 8% e AT R e B A I 69 A wERe o @ 83765
- A gy R i e e

~ (A)Rs. 16660 (B)Rs. 17180

- \C)Rs. 17450 (D)Rs. 18110

| a—



69.

70.

71.

T2

73.

74.

If HCF(a,b)=15andaxb= 1800 then LCM (321?}) s @
A) 3600 (B) Somr
EC) 90 (D) 120 Cries
ST (a, b) 1 =T S 1 15 8 a1 ax b=1800 ¥ & (a, b) Hl Fe a1

HH I |

(A) 3600 (B) 900

(C) 90 (D) 120

75% of 2 is equal to-

(A) 375 (B) 15

(C1% 1.5 (D) 0.15

2 75% fhas quEy &7

(A) 375 (B) 15

€ 15 (D) 0.15
Inarhombus, ifits diagonals are 19 cmand 13 cm, its area will be-
(A)  %(19+13)cm’ (B) %2(19x13)em’
(©)  %(19-13)em’ (D) 244.5cm’

U TR 3 S 76 ol 19 emaen 13 om ® A g 5 R A
(A)  %(19+13)em’ (B) %(19x13)em’
(€©)  %(19-13)em’ (D) 244 .5¢m’

[fthe area of a circular garden is 15400 m’, then its perimeter is-
(A) 440m (B) 220m

(C) 110m (D) 550m
W@W@ﬁmﬂammrsmm‘%ﬁmqﬂmmma
(A) 440m (B) 220m

(C) 110m (D) S550m

Which of the following is a synthetic drug?

(A) Charas (B)  Opium

(C) Heroin (D) Hashish
e & i i Rafess 2 &7

(A) =™ (B) i

(C) Bl (D) i

Which of the following is not a radioactive element?

(A) Uranium (B) Boron

(C) Radium (D) Plutonium

T @ B T e e 8 ¥

(A) (B) aH
(C) gﬁq (D) R
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7.

PRSI
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79.

80.

Omega -3 fatty acid is not found in-

Fish )
Fi;xgélcds (BY Walnuts @
ﬁ%ﬁﬁmﬁ@ﬁm Jﬁﬁmﬁw{u]%lumcu Ser
(A) ;?Téqaraa B i
©) (D) H&E T

Mirage can most |
(A) Reflection
(C) Dispersion

ikely be associated with which of the followi ing phenomenon-
(B) Refraction
(D) Diffraction

ﬁ e TR / e & ey e &9

(A) (B) 3ad
© %“'“' (D)

oil is used in froth flotation process?
(A) Cucgnut oil (B} Olive oil
(C) Pineoil Kerosine

et T IYET T s nﬁm gl &2
(A) IREE o (B) A
(C) g Faw (D) gt 1 o
Salmonella Typhi bacteria causes life threatening disease of-
(A)" Tetanus (B) Tuberculosis
(C) Trichinosis (D) Typhoid
mmm%mmmm%mﬁ@m%
(A) TeTd (B) 3=
(C) PiferifEE (D) & =X

BCG Vaccine is used to prevent-

(A) Meastlgs E%)) '{uhcrculusis
C) Diphtheria eprosy

(B(%G H E%ET foRg T | ﬂm%”

(A) HeTH (B) F&

(C) fewdiftn (D) AR /FS T
Colours of light which deviate the least and most.

(A) RedandViolet (B) RedandBlue
C) Violetand Blue (D) GreenandRed

3 17 9 Tad &9 9 ik e B €
(A) I d & (B) W T A
(C) vl T e S (D) &

* % % k kX% k%



